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FOM12 Chapter 8 Test A

Answer Section

MULTIPLE CHOICE
1. A
2. C
3. D
4. C
5 A
6. B
7. A
8. D
9. B
10. B
1. D
12. A
13. D
PROBLEM
1. Iknow that I radian is equivalent to about 60°.

Since 20° is one third of 60°, it is equivalent to about 0.3 radians, which is less than 0.4.
0.4 is the greater angle.

a) There is a maximum value at 0.075 and a maximum value at 0.375.
Period =0.375-0.075
Period=0.3

b) I know that the period is 0.3, so the y-value at x =3 is the same as the y-value at x=0.
From the graph I can see that at x =0, the y-value is —2.
The y-value of this graph when x =3 is —2.

©) Lknow that the period is 0.3, 50 the y-value at.x = 1.75 is the same as the y-value at x = 1.45, v = 115, and x = 0.85.
From the graph I can see that at x = 0.85, the y-value is —7.
‘The y-value of this graph when x = 1.75 is 7.

‘The amplitude of both graphs s 2.
The period of both graphs is 360°.

The midline of graph A is y = 4, s0 equations iv), v), and vi) are eliminated.
If the graph represents a cosine function, then it has been translated by 120° to the right. Equation i) represents a cosine function that has been
translated by 120° to the right. Equation ) must be correct for graph A.

The midline of graph B is y = 0, so equations i), ii), and iii) are eliminated.
If the graph represents a cosine function, then it has been translated by 60° to the right. Equation v) represents a cosine function that has been
translated by 60° to the right. Equation v) must be correct for graph B.




